DATE: 03/12/2015
REV DATE: 06/27/2015

DC-25
PART # DPEC003719

ADELTA

POWER EQUIPMENT CORPORATION

1.5 HP DUST COLLECTOR

50-767




99 Roush Street, Anderson, SC 29625
(800) 223-7278 » www.DeltaMachinery.com

DC-25

PART # DPEC003719

Copyright © 2015 DELTA® Power Equipment Corporation

ITEM #

O~NOO O WN

10

12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

52
53

DATE: 03/12/2015

REVISED: 06/27/2015

REPLACEMENT PARTS
DELTA PART# DESCRIPTION
DPEC003705 Base Frame
DPEC003667 Swivel Caster 64mm
DPEC003668 * Acorn Nut 3/8”
DPEC003669 Rear Wheel 8”
DPEC003670 Flat Washer M13 X 25 X 3T
DPEC003671 * Hex Head Shoulder Screw M10 X 80
DPEC003672 Tube End Cap 30mm
DPEC003706 Rear Stand Cross Support
DPEC003707 Rear Blower Housing Support
DPEC003675 * Hex Socket Head Screw M6 X 40
DPEC003676 * Hex Socket Head Screw M8 X 45
DPEC003677 Flat Washer M8 X 25 X 3T
DPEC003678 * Lock Nut M8
DPEC003708 Front Support Assembly
DPEC003680 Tube End Cap 28.6mm
DPEC003709 Blower Housing Assembly
DPEC003682 * Hex Socket Head Screw M6 X 10
DPEC003710 Motor 1.5 HP
DPEC003711 * Hex Head Screw 5/16-18 X 1”
DPEC000833 * Flat Washer 5/16” X 18 X 2T
DPEC001819 * Hex Nut 5/16-18
DPEC003712 Impeller
DPEC003688 Hex Socket Head Screw M6 X 30 LH Threads
DEPC003460 * Spring Washer M6
DEPC003689 Impeller Washer M6 X 40 X 3T
DPEC003713 Impeller Inlet Cover
DEPC003690 * Round Head Phillips Screw M5 X 10
DPEC003714 “Y” Inlet Adapter 4” Hose Connection
DPECO003715 “Y” Adapter Inlet Cover
DPEC003726 Round Head Phillips Screw for Plastic M5 X 10
DPEC003716 Chip Seperator
DPEC003717 * Round Head Phillips Screw M5 X 8
DPEC003718 Handle
DPEC003693 Tube End Cap 1”
DPEC003694 * Round Head Phillips Screw M8 X 15
DPEC003730 Starter Switch
DPEC003732 Seal
DPEC003731 Anti Vibration Plate
DPEC003720 Lower Hanger Rod
DPEC003721 Upper Hanger Rod
DPEC003699 Detent Spring Plate
DPEC003722 1 Micron Filter Bag
DEPC003723 Dust Collection Bag Ring
DPEC003724 Retainer Strap
DPEC003725 Dust Collection PE Bag
DPEC003733 Power Cord
DPEC003734 “Y” Adapter Chain
DPEC003853 Capacitor Cover
DPEC003854 Capacitor Dust Protective Sheet
DPEC003858 Capacitor 40uF
DPEC003859 Capacitor 200uF
DPEC003857 Capacitor Protective Cover
DPEC003852 Round Head Phillips Screw 3/16” X 1/4”

* = |tem is standard hardware and can be purchased in local hardware or home improvement stores.

P2

QTY

BN = E m mdmm s m ) A NS R W= DN =S A AaANNS AR A aa A S A RADRNANaSaN=_S2DBDROOBRN=SDNNMNAENDNDN-



